
Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

111111Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

20

*S49816A02020*

 
D

O
 N

O
T W

R
IT

E
 IN

 T
H

IS A
R

E
A

 
D

O
 N

O
T W

R
IT

E
 IN

 T
H

IS A
R

E
A

 
D

O
 N

O
T W

R
IT

E
 IN

 T
H

IS A
R

E
A

BLANK PAGE

Pa
pe

r 
1M

A
1:

 1
H

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

1
42

P1
pr

oc
es

s t
o 

st
ar

t p
ro

bl
em

 so
lv

in
g 

eg
 fo

rm
s a

n 
ap

pr
op

ria
te

 e
qu

at
io

n
P1

co
m

pl
et

e 
pr

oc
es

s t
o 

so
lv

e 
eq

ua
tio

n
A

1
ca

o

2
4

m
2

B
1

su
bs

tit
ut

io
n 

in
to

fo
rm

ul
a 

eg
 

12
1.

5
A

=

A
1

4
(o

e)
 st

at
ed

C
1

(in
de

p)
 u

ni
ts

 st
at

ed

3
0.

22
P1

be
gi

ns
 p

ro
ce

ss
 o

f s
ub

tra
ct

io
n 

of
 p

ro
ba

bi
lit

ie
s f

ro
m

 1
A

1
oe

4
48

P1
be

gi
ns

 to
 w

or
k 

w
ith

 re
ct

an
gl

e 
di

m
en

si
on

s e
g 

l+
w

=7
 o

r 2
×l

+w
(=

11
)

C
1

sh
ow

s a
 re

su
lt 

fo
r a

 d
im

en
si

on
 e

g 
us

in
g 

l=
4 

or
 w

=3
P1

be
gi

ns
 p

ro
ce

ss
 o

f f
in

di
ng

 to
ta

l a
re

a 
eg

 4
 ×

 “
3”

 ×
 “

4”
A

1
ca

o

5
ex

pl
an

at
io

n
M

1
w

or
ks

 w
ith

 v
ol

um
e 

eg
 2

40
00

0
be

gi
ns

 w
or

ki
ng

 b
ac

k 
eg

 7
0÷

2.
50

M
1

us
es

 c
on

ve
rs

io
n 

1 
lit

re
 =

 1
00

0 
cm

3
us

es
 c

on
ve

rs
io

n 
1 

lit
re

 =
 1

00
0 

cm
3

M
1

us
es

 8
00

0 
eg

 v
ol

 ÷
 8

00
0 

(=
30

)
us

es
 8

00
0 

eg
 “

28
”×

 8
00

0 
(=

22
40

00
)

M
1

us
es

 “
30

” 
eg

 “
30

” 
× 

2.
50

w
or

ks
 w

ith
 v

ol
. e

g 
22

40
00

C
1

fo
r e

xp
la

na
tio

n 
an

d 
75

 st
at

ed
fo

r e
xp

la
na

tio
n 

w
ith

 2
40

00
0 

an
d 

22
40

00



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

112112 Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 1
H

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

6
(a

)
Sh

ar
if

B
1

Sh
ar

if 
w

ith
 m

en
tio

n 
of

 g
re

at
es

t t
ot

al
 th

ro
w

s
(b

)
N

o
P1

st
ar

ts
 w

or
ki

ng
 w

ith
 p

ro
po

rti
on

s
(s

up
po

rte
d)

A
1

C
on

cl
us

io
n:

 c
or

re
ct

 fo
r P

au
l, 

bu
t n

ot
 fo

r t
he

 re
st

; o
r r

ef
 to

 ju
st

 P
au

l’s
 re

su
lts

(c
)

To
t: 

H
 3

00
 

T 
10

0
9 16

P1
se

le
ct

s S
ha

rif
 o

r o
ve

ra
ll 

an
d 

m
ul

tip
lie

s P
(h

ea
ds

)×
P(

he
ad

s)
 e

g 
¾

 ×
 ¾

 

A
1

oe

7
(a

)
3 2

B
1

(b
)

6
M

1
st

ar
ts

 p
ro

ce
ss

 e
g 

si
n3

0
12x

=

A
1

an
sw

er
 g

iv
en

8
(a

)
5.

7×
10

26
to

B
1

us
es

 e
st

im
at

es
 e

g 
1.

89
9 

to
 1

.9
 o

r 2
6×

10
26

M
1

pr
oc

es
s o

f m
ul

tip
lic

at
io

n 
eg

 0
.5

7 
× 

10
27

A
1

be
tw

ee
n 

5.
7×

10
26

an
d 

6×
10

26

(b
)

ex
pl

an
at

io
n

C
1

eg
 u

nd
er

es
tim

at
e 

a 
nu

m
be

r i
sr

ou
nd

ed
 u

p

9
‘Y

es
’ w

ith
 

co
rr

ec
t 

P1
be

gi
ns

 p
ro

ce
ss

 o
f w

or
ki

ng
 w

ith
 m

ea
n 

eg
 3

5×
10

 (=
35

0)
 o

r 3
3×

11
 (=

36
3)

 o
r 

10
×(

35
−3

3)
 (=

20
) o

r 1
1×

(3
5−

33
) (

=2
2)

w
or

ki
ng

P1
(d

ep
) f

in
di

ng
 th

e 
di

ff
er

en
ce

 e
g 

“3
63

”−
“3

50
”,

 o
r 3

3 
–

“2
0”

 o
r 3

5 
–

“2
2”

C
1

‘Y
es

’ w
ith

 1
3 

fr
om

 c
or

re
ct

 w
or

ki
ng



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

113113Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 1
H

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

6
(a

)
Sh

ar
if

B
1

Sh
ar

if 
w

ith
 m

en
tio

n 
of

 g
re

at
es

t t
ot

al
 th

ro
w

s
(b

)
N

o
P1

st
ar

ts
 w

or
ki

ng
 w

ith
 p

ro
po

rti
on

s
(s

up
po

rte
d)

A
1

C
on

cl
us

io
n:

 c
or

re
ct

 fo
r P

au
l, 

bu
t n

ot
 fo

r t
he

 re
st

; o
r r

ef
 to

 ju
st

 P
au

l’s
 re

su
lts

(c
)

To
t: 

H
 3

00
 

T 
10

0
9 16

P1
se

le
ct

s S
ha

rif
 o

r o
ve

ra
ll 

an
d 

m
ul

tip
lie

s P
(h

ea
ds

)×
P(

he
ad

s)
 e

g 
¾

 ×
 ¾

 

A
1

oe

7
(a

)
3 2

B
1

(b
)

6
M

1
st

ar
ts

 p
ro

ce
ss

 e
g 

si
n3

0
12x

=

A
1

an
sw

er
 g

iv
en

8
(a

)
5.

7×
10

26
to

B
1

us
es

 e
st

im
at

es
 e

g 
1.

89
9 

to
 1

.9
 o

r 2
6×

10
26

M
1

pr
oc

es
s o

f m
ul

tip
lic

at
io

n 
eg

 0
.5

7 
× 

10
27

A
1

be
tw

ee
n 

5.
7×

10
26

an
d 

6×
10

26

(b
)

ex
pl

an
at

io
n

C
1

eg
 u

nd
er

es
tim

at
e 

a 
nu

m
be

r i
sr

ou
nd

ed
 u

p

9
‘Y

es
’ w

ith
 

co
rr

ec
t 

P1
be

gi
ns

 p
ro

ce
ss

 o
f w

or
ki

ng
 w

ith
 m

ea
n 

eg
 3

5×
10

 (=
35

0)
 o

r 3
3×

11
 (=

36
3)

 o
r 

10
×(

35
−3

3)
 (=

20
) o

r 1
1×

(3
5−

33
) (

=2
2)

w
or

ki
ng

P1
(d

ep
) f

in
di

ng
 th

e 
di

ff
er

en
ce

 e
g 

“3
63

”−
“3

50
”,

 o
r 3

3 
–

“2
0”

 o
r 3

5 
–

“2
2”

C
1

‘Y
es

’ w
ith

 1
3 

fr
om

 c
or

re
ct

 w
or

ki
ng

Pa
pe

r 
1M

A
1:

 1
H

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

10
(a

)
5

P1
be

gi
ns

 to
 w

or
k 

w
ith

 sc
al

in
g 

fa
ct

or
s (

eg
 5

) o
r ÷

6
A

1
ca

o
(b

)
10

P1
w

or
ks

 w
ith

 1
:2

 ra
tio

 e
g 

no
. r

ed
 c

ou
nt

er
s i

s 3
0÷

2 
(=

15
)

A
1

ft

11
25

B
1

ca
o

12
37

.5
 m

ph
P1

sh
ow

s p
ro

ce
ss

 o
f f

in
di

ng
 fi

rs
t d

is
ta

nc
e 

eg
 5

0 
× 

3 
(=

15
0)

P1
sh

ow
s p

ro
ce

ss
 o

f f
in

di
ng

 ti
m

e 
fo

r s
ec

on
d 

pa
rt 

eg
 1

50
 ÷

 3
0 

(=
5 

h)
P1

sh
ow

s p
ro

ce
ss

 o
f w

or
ki

ng
 w

ith
 a

v 
sp

. (
di

st
 ÷

 ti
m

e)
 (=

 3
00

÷(
3+

5)
 =

 3
00

÷8
 )

C
1

co
nc

lu
si

on
 w

ith
 su

pp
or

tin
g 

ev
id

en
ce

, c
or

re
ct

 n
ot

at
io

n 
an

d 
un

its
 e

g 
37

.5
 m

ph

13
3

2
4

1
k

m
=

−
M

1
cl

ea
r f

ra
ct

io
ns

 o
r r

em
ov

e 
sq

 rt
 si

gn

or
3

(2
1)

(2
1)

m
m

+
−

M
1

(d
ep

) c
le

ar
 fr

ac
tio

ns
 a

nd
 re

m
ov

e 
sq

 rt
 si

gn
A

1
3

2
4

1
k

m
=

−
or

 3
(2

1)
(2

1)
m

m
+

−

14
2 13−

M
1

m
ul

tip
lie

s a
ll 

te
rm

s b
y 

2 
or

 3
 to

re
co

nc
ile

 fr
ac

tio
ns

M
1

co
m

pl
et

e 
pr

oc
es

s o
f e

xp
an

di
ng

 b
ra

ck
et

s a
nd

 is
ol

at
in

g 
x

te
rm

A
1

ca
o

15
2

5 5
x x
− +

M
1

fa
ct

or
is

in
g 

to
 g

iv
e 

(2
x

− 
5)

(x
+ 

1)

M
1

fa
ct

or
is

in
g 

to
 g

iv
e 

(x
+ 

5)
(x

+ 
1)

A
1

ca
o



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

114114 Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 1
H

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

16
D

, A
, B

, C
B

1
fo

r a
tl

ea
st

 2
 c

or
re

ct
B

1
fo

r a
ll 

co
rr

ec
t

17
SA

S
M

1
lin

ks
 P

Q
R

 a
nd

 P
R

Q
 (e

g 
is

os
ce

le
s t

ria
ng

le
) w

ith
 fu

ll 
re

as
on

s
M

1
lin

ks
 T

R
 a

nd
 S

Q
 w

ith
 fu

ll 
re

as
on

s
C

1
gi

ve
s f

ul
l c

on
cl

us
io

n 
fo

r c
on

gr
ue

nc
y 

eg
 S

A
S

18
75
π

P1
st

ar
ts

 p
ro

ce
ss

 b
y 

us
in

g 
25

0 3
π

an
d 

3
1

4
2

3
r

π
×

to
 fi

nd
 ra

di
us

 a
s 5

P1
st

ar
ts

 p
ro

ce
ss

 u
si

ng
 ½

 c
ur

ve
d 

su
rf

ac
e 

ar
ea

 e
g 

(4
 ×

 π
× 

52
) ÷

 2
P1

co
m

pl
et

e 
pr

oc
es

s s
ho

w
n 

eg
 (4

 ×
 π

× 
52

) ÷
 2

  +
 ( 
π

× 
52

)
A

1
fo

r 7
5π

19
√3

1
M

1
ex

pa
nd

s b
ra

ck
et

s e
g 

 3
6 

+ 
6√

5 
–

6√
5 

−√
25

  (
=3

1)
M

1
ra

tio
na

lis
es

 th
e 

de
no

m
in

at
or

 e
g 

us
in

g 
√3

1 
w

ith
 n

um
er

at
or

 &
 d

en
om

in
at

or
A

1
fo

r √
31



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

115115Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 1
H

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

16
D

, A
, B

, C
B

1
fo

r a
tl

ea
st

 2
 c

or
re

ct
B

1
fo

r a
ll 

co
rr

ec
t

17
SA

S
M

1
lin

ks
 P

Q
R

 a
nd

 P
R

Q
 (e

g 
is

os
ce

le
s t

ria
ng

le
) w

ith
 fu

ll 
re

as
on

s
M

1
lin

ks
 T

R
 a

nd
 S

Q
 w

ith
 fu

ll 
re

as
on

s
C

1
gi

ve
s f

ul
l c

on
cl

us
io

n 
fo

r c
on

gr
ue

nc
y 

eg
 S

A
S

18
75
π

P1
st

ar
ts

 p
ro

ce
ss

 b
y 

us
in

g 
25

0 3
π

an
d 

3
1

4
2

3
r

π
×

to
 fi

nd
 ra

di
us

 a
s 5

P1
st

ar
ts

 p
ro

ce
ss

 u
si

ng
 ½

 c
ur

ve
d 

su
rf

ac
e 

ar
ea

 e
g 

(4
 ×

 π
× 

52
) ÷

 2
P1

co
m

pl
et

e 
pr

oc
es

s s
ho

w
n 

eg
 (4

 ×
 π

× 
52

) ÷
 2

  +
 ( 
π

× 
52

)
A

1
fo

r 7
5π

19
√3

1
M

1
ex

pa
nd

s b
ra

ck
et

s e
g 

 3
6 

+ 
6√

5 
–

6√
5 

−√
25

  (
=3

1)
M

1
ra

tio
na

lis
es

 th
e 

de
no

m
in

at
or

 e
g 

us
in

g 
√3

1 
w

ith
 n

um
er

at
or

 &
 d

en
om

in
at

or
A

1
fo

r √
31

Pa
pe

r 
1M

A
1:

 1
H

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

20
pr

oo
f

M
1

fo
r a

ny
 tw

o 
co

ns
ec

ut
iv

e 
in

te
ge

rs
 

ex
pr

es
se

d 
al

ge
br

ai
ca

lly
 e

g 
n

+ 
1 

an
d 

n

fo
r s

ig
ht

 o
f p

2
–

q2
= 

(p
–

q)
(p

+
q)

(s
up

po
rte

d)
M

1
(d

ep
) f

or
 th

e 
di

ff
er

en
ce

 b
et

w
ee

n 
th

e 
sq

ua
re

s o
f “

tw
o 

co
ns

ec
ut

iv
e 

in
te

ge
rs

” 
ex

pr
es

se
d 

al
ge

br
ai

ca
lly

 e
g 

(n
+ 

1)
2

− 
n2

fo
r d

ed
uc

tio
n 

th
at

 p
–

q
= 

1

A
1

fo
r c

or
re

ct
 e

xp
an

si
on

 a
nd

 
si

m
pl

ifi
ca

tio
n 

of
 d

iff
er

en
ce

 o
f 

sq
ua

re
s e

g 
 2

n
+ 

1

fo
r l

in
ki

ng
 th

es
e 

tw
o 

st
at

em
en

ts
 e

g 
su

bs
tit

ut
io

n 
of

 1
 fo

r p
− 

q

C
1

fo
r s

ho
w

in
g 

st
at

em
en

t i
s c

or
re

ct
 

(w
ith

 su
pp

or
tiv

e 
ev

id
en

ce
) 

eg
 n

+
n

+ 
1 

= 
2n

+ 
1 

an
d 

(n
+ 

1)
2

− 
n2

= 
2n

+ 
1

fo
r f

ul
ly

 st
at

ed
 p

ro
of

 a
nd

 d
ed

uc
tio

n 
eg

 
p2

–
q2

= 
1 

× 
(p

+
q)

 =
  p

+
q

21
2

10
45x

x
−

P1
fo

r
10x

or
 10

10
x

−
or

 
1

9x−
or

 10
9

x
−

or
 9x

or
 9

9
x

−
se

en
 o

n 
di

ag
ra

m
 o

r 

in
 a

 c
al

cu
la

tio
n

P1
fo

r 
10x

×
10

9
x

−
or

 10
10

x
−

×
9x

fo
r 

10x
×

1
9x−

+
10

10
x

−
×

9
9

x
−

P1
fo

r 
10x

×
10

9
x

−
+

10
10

x
−

×
9x

fo
r 1

 –
( 10x

×
1

9x−
+

10
10

x
−

×
9

9
x

−
)

P1
fo

r b
eg

in
ni

ng
 to

 p
ro

ce
ss

 th
e 

al
ge

br
a

A
1

2
10

45x
x

−
oe



Centre Number Candidate Number

Write your name here
Surname Other names

Total Marks

Paper Reference

Turn over     

S49818A
©2015 Pearson Education Ltd.

6/6/6/

*S49818A0124*

Mathematics
Paper 2 (Calculator)

Higher Tier
Specimen Papers Set 1

Time: 1 hour 30 minutes 1MA1/2H
You must have: Ruler graduated in centimetres and millimetres, 
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
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• Use black ink or ball-point pen.
• Fill in the boxes at the top of this page with your name,  
 centre number and candidate number.
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•  Answer the questions in the spaces provided  

– there may be more space than you need.• Calculators may be used.
•  If your calculator does not have a π button, take the value of π to be 3.142 

unless the question instructs otherwise.
• Diagrams are NOT accurately drawn, unless otherwise indicated.
•  You must show all your working out.
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• The total mark for this paper is 80
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